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Chapter 8 Financial statements for sole proprietorships (ll)
8.2 Difference between the income statement and the balance sheet (3 & %

feF A L § & chey)
A balance sheet (¥ & { ff %) is a simply a list of balances (- > 4%f i ¥ ) of the assets (F* 4 ), liabilities ( # ) and capital (7
%) of a business at a point in time (7% P &3} R). It shows the financial position (B4 7%} /=) of a business at a certain date (%
% P ). The balance sheet is not part of the double-entry system (% £_4f ;% otk & tLéh— F84 ) and we would not close off (% §
%) the account (t& =) of assets (¥ &), liabilities (# 7 ) and capital (¥ %) at the end of an accounting period (& ¢ 3~ %).
Instead, these account balances (& #& = :H4%4F) will be carried forward to the next period (§ A& #& 3| ™ #7).

The income statement uses the flow concept (7 & #% 4 ) to measure (%4 ) the financial results (B4 3 % 3) of a business during
an accounting period (& ¥ &% & ¢ 3+ # &) while the balance sheet uses the stock concept (% £ #£4).

8.3 Classifications of assets and liabilities (3 & fr § 7 74 #f)

8.3.1 Assets (F 2)

Current assets (i # 7 &)

Current assets (short-term assets) refer to cash and other assets that are likely (st %.) to be converted into cash (% %.), sold or
consumed (3! & £ jj' 4£) in the short term (%&#F R ), which is usually within a year (3 ¥ #.— & ). Examples are inventory (7%
k'), accounts receivable (/& <& #), bank balance (4277 t& = 3-4) and cash (R £&).

Non-current assets (£ 6 5 2 )

Non-current assets (fixed assets or long-term assets) are assets that are long-term in nature (¥ £ #f ¢ * ) and can benefit (¥ &)
the business for more than one year (if ¥ 42i® - ). They are material in amount ( £ & i &) and physical substance ($ 323
F). They are acquired for use (F#-§ F¥ % %) in the operations of the business (£ ¥ ¥ i) and not for resale (7 ++ X # & ).
Examples are land and buildings ( % 3 # ), fixtures and fittings (% i3 £7 4 § ), furniture (.2 ), machinery (1% &), equipment (&
# ) and motor vehicles (i # ).

8.3.2 Liabilities (} %)

Current liabilities (7x#+ § )

Current liabilities (short-term liabilities) refer to liabilities (7 #%) that have to be repaid within a year (% 7 & # p ¥ i8).
Examples include accounts payable (& ] t& #) and bank overdrafts (41i73i§ & ).

Non-current liabilities (- # § )
Non-current liabilities (long-term liabilities) refer to liabilities ( #%) that do not have to be repaid within a year (7 f &— & p
¥ :8). Examples include loans ( § #<) from banks or other financial institutions (# # & ﬁiﬁﬁfﬁ).

Class work 1
1. Given the following figures: Equipment $67,900; Motor vehicle $15,670; Bank overdraft $4,920; Cash $56,790; Inventory
$23,840; Accounts payable $43,800; Accounts receivable $78,200; Long-term bank loan $45,000. Find the Capital.

Current assets = 56,790 + 23,840 + 78,200 = 158,830 Fixed assets = 67,900 + 15,670 = 83,570
Total assets = 158,830 + 83,570 = 242,400
Current liabilities = 4,920 + 43,800 = 48,720 Long-term liabilities = 45,000

Total liabilities = 48,720 + 45,000 = 93,720
Capital = Assets — Liabilities = 242,400 — 93,720 = 148,680

2. On 31 December 2009, a business had the following balances:
Non-current assets $93,456; Current assets $32,222; Current liabilities $12,439; Non-current liabilities $5,000.
Find the capital as at 31 December 2009

Capital = Assets — Liabilities
= (93,456 + 32,222) — (12,439 + 5,000)
=$108,239




8.4 Preparation of a balance sheet (% ®{ 7 & § & %)

Example

M Chan
Trial Balance as at 31 December 2008
Dr Cr
S $
Sales 207,000
Purchases 142,600
Returns inwards 3,450
Returns outwards 2,100
Carriage inwards 1,950
Carriage outwards 1,330
Rent and rates 15,650
Salaries 26,000
Discounts allowed 2,200
Sundry expenses 1,700
Discounts received 3,500
Shop premises 250,000
Fixtures and fittings 53,600
Accounts receivable 42,300
Accounts payable 41,880
Bank 56,000
Cash 8,200
Loan from C Ho (repayable in 2011) 90,000
Drawings 23,000
Capital 290,000
Inventory 6,500
634,480 634,480
Additional information:
The net profit for the year is 16,620.
Closing inventory as at 31 December 2008 was valued at $5,400.
Horizontal style (¥ 3%)
M Chan
Balance sheet as at 31 December 2008
$ $ $
Note2 Capital
Shop premises 250,000| Balance as at 1 January 2008 290,000
Fixtures and fittings 53,600| Add Noted 16,620
303,600 306,620
Note3 Less Note5 (23,000)
Inventory 5,400 283,620
Accounts receivable 42,300 Non-current liabilities
Bank 56,000 Loan from C Ho 90,000
Cash 8,200 111,900
Current liabilities
Accounts payable 41,880
415,500 415,500

N

durable one (¢ & ft® ¢rE P B 4o 5| # & ).

The balance sheet is prepared (% #!) as the basis (£ #) on an accounting equation (§ 3* ¥ 3%). (Assets = Capital + Liabilities)
. Non-current assets are listed in descending order ("% &) of durability (@ * {%), from the most durable asset to the least

3. Current assets are listed in ascending order (< &) of liquidity (% #.it # ), from the asset that is the most difficult to be
turned into cash to the one that is the easiest to be turned into cash, which is usually cash itself (¢ B ¥E% F 575 P B 43

BRERRAYEREP °)

4. Net profit (¥ {]) come from the income statement (f£Jf £ t& ©# @ %) and is added to capital (¥ & 4 $|F % ¥ ). On the
contrary (48 ¥ ), if there is a net loss (— B % g54f), it will be deducted from capital (#-§ &3 # ¢ ;fr-'f). The amount of
capital shown (B ¢9F &) in the trial balance (3% ¥ %) represents the opening capital (3 # 4= F %) and the closing
capital is calculated as (¥} & F & &3> 8 2 5% % ): Closing capital = Opening capital + Contribution of capital + net profit/loss —

Drawings.
5. Drawings (# * ) are deducted from capital (EJ£F » ¥ a‘r'ﬁ% ).
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Vertical Style (2 3%)

M Chan
Balance sheet as at 31 December 2008
$ $
Non-current assets
Shop premises 250,000
Fixtures and fittings 53,600 303,600
Current assets
Inventory 5,400
Accounts receivable 42,300
Bank 56,000
Cash 8,200
111,900
Less Current liabilities
Accounts payable (41,880)
Notel 70,020
373,620
Less Non-current liabilities Closing capital
Loan from C Ho (90,000)
Net Assets —283,620
Financed by:
Capital
Balance as at 1 January 2008 290,000
Add Net profit for the year 16,620
306,620
Less Drawings (23,000)
283,620

1. In a vertical-style balance sheet, current liabilities (;i:#* § ) are subtracted from current assets (i & &) in order to

compute the amount of net current assets (working capital) (7 /i & 3 2 ).

Net current assets = Current assets — Current liabilities

This figure measures whether the firm has sufficient current assets (& 33 5 # 3 2 ) to meet its current liabilities (¥ 8 /& #
£ #). In other words, it indicates (% F*) the firm’s ability (2 # it 4 ) to meet its short-term debts (¥ :B &3 § 7%). If
current liabilities (7= #* £ 7 ) exceed (42 i) current assets (i #* F &), the difference (4p &) is called net current liabilities (7%
wde g R

2. The vertical style is more commonly used by modern businesses.

Class work 2

1. Suppose a firm has the following assets and liabilities as at the end of year:
Assets: Plan and machinery $2.5 million; Office equipment $620,000; Inventory $75,000; Accounts receivable $48,000;
Cash at bank $29,000
Liabilities: Loan from bank $120,000 (repayable after five years); Accounts payable $88,000

Calculate the amount of net current assets (or net current liabilities) of this firm. Does it have sufficient current assets to meet

its current liabilities?

Current assets = $75,000 + $48,000 + $29,000 = $152,000
Current liabilities = $88,000

Net current assets = $152,000 - $88,000 = $64,000

Yes, the firm has sufficient current assets to meet its current liabilities.

3



2. On 31 December 2009, a sole proprietorship had the following balances:
Non-current assets $93,456; Current assets $32,222; Current liabilities $12,439; Non-current liabilities $5,000

Find the the firm’s net current assets | as at 31 December 2009

Net current assets = Current assets — Current liabilities

=32,222-12,439
=$19,783

3. Given the following information about a sole proprietorship:

Total Assets = Closing Capital + Closing Liabilities

Total assetsasat 11 Net Assets = Total Assets — Closing Liabilities
Total liabilities as af

= Closing Capital + Closing Liabilities — Closing Liabilities

Capital introduced = Closing Capital

Drawings made in A, ,
Net profit for April 2010 9,500

(a) Find the capital as at 30 April 2010
closing capital = opening capital + contribution of capital + net profit/loss — drawings
= (80,680 — 52,000) + 3,500 + 9,500 — 12,300
=$29,380

(b) Find the net assets as at 30 April 2010

Net assets = Closing Capital

=$29,380

4. The opening and closing capital balances for Thomas Li’s business for the year ended 31 March 2010 were $34,567
and $44,521, respectively. The net profit for the year was $7,222. Find the Li’s capital contribution during the year.

closing capital = opening capital + contribution of capital + net profit/loss — drawings

44,521 = 34,567 + contribution of capital + 7,222

contribution of capital = $2,732

5. Joe Choi commenced business on 1 January 2009. He brought in non-current assets and inventory totalling $87,000.
He also opened a business bank account and deposited $2,000 of his own money into the account. On 31
December 2009, the business had net assets of $44,230. The net profit for the year was $11,000. Find Joe’s
drawings for the year.

closing capital = opening capital + contribution of capital + net profit/loss — drawings

44,230 = 87,000 + 2,000 + 11,000 — drawings

drawings = $55,770




6. The following are balance of T Chan as at 31 December 2007. Draw up a balance sheet as at that date.

s
Capital as at 1 January 2007 100,000
Fixtures and fittings 47,000
Accounts receivable 12,900
Accounts payable 8,100
Bank 31,300
Drawings 31,700
Inventory as at 31 December 2007 42,100
Net profit for the year 56,900

Vertical Style
T Chan

Balance sheet as at 31 December 2007

_____________________________________________________________________________________________________________________________

F|xtures and fittings

—————————————————————————————————————————————————————————————————————————————————————————————————————————————

i ' ' '
b o o o oo o o e oo e e e e e e e e o e e e e i e -
' '

! Current assets

Less Drawings

7. Draw up a balance sheet for T Lo as at 31 December 2008 from the following balances:

$
Accounts receivable 41,900
Bank 30,600
Accounts payable 12,900
Inventory as at 31 December 2008 124,100
Drawings 45,000
Cash 400
Net profit for the year 59,100
Capital as at 1 January 2008 250,000
Office equipment 80,000

Horizontal style
Martin Lee
Balance sheet as at 31 December 2008

S S S
__!_\!9__'_'_ current assets N I  Capital R |
__fo'_c_e__e_q_wpme_r}t ____________________________ . 89_90_0___B_a_'_anee__a_s_@_t__l_J?_v_u?_ty_zf?Q_% ____________________ 250,000
S SRR N NRNRSR : Add _Net profit for theyear @ 59,100
| Currentassets R e L ______________________________________________________ 309,100 |
Inventory i 1124200 i | Less Drawings i (45000) |
. Accounts receivable i 41,900 & i 1264100
i Bank 30,600 : i  Current liabilities i |
:Cash 400 & 1 9_7_999_A_c_e_cat_lnt_s__r@_v_ab_l_e_______________________________L____1__2_,999__.
7 .- T 3770001 277,000 |



Trial Balance as at 31 March 2009

Dr Cr
$ $
Office equipment 220,000
Furniture and fixtures 90,600
Accounts receivable 53,920
Accounts payable 59,310
Bank overdraft 38,260
Cash 9,390
Drawings 14,000
Loan from bank (long-term) 200,000
Capital 130,000
Income statement 22,810
Closing Inventory 16,850
427,570 427,570
Vertical style
Balance sheet as at 31 March 2009
S S SR R N
. Non-currentassets ] S S '
| Officeequipment 1220000 i
| Furnitureand fixtures 11906000 i 3_19_6_@9_:
L Currentassets I TS S DO 5
. Accountsreceivable ;....53920: . i
R R L 1..93%:% o 5
. Less Current liabilities o . L .
. Accountspayable i 59310} R T A
] Bankoverdraft 1382601 i (97570f T
: Netcurrentassets o R Lo (_1_7_4_1_9)
e S S R S 2 9_3__1?9
| Less _Non-current liabilities b A A R
L Loanfrombank (300,000}
_______________________________________________________________________________________________________________ L. 93,190
Financed by: A A R
Capital e ———————
: Balanceasat1April 2008 1 ?_»9_9_09
| Less Netlossfortheyear R L __1._(22,810)
e M N U ! @_7__1_99.
_______________________________________________________________________________________________________________________________________ 93,190
Horizontal style
Balance sheet as at 31 March 2009
____________________________________________________ SR RO SRR NN S S
, Non-currentassets & & . , capital R A D
Office equipment e T 920,000] Balance as at 1 April 2008 . o L. 130,000
: Furniture and fixtures & .4 90,600; Less Netloss for theyear L4+ (22,810)
3108000 S S 107,190
| Currentassets e R | less Drawings o L. (14,000)
{Inventory il 16,850 ; o L _________________________________________ A 93,190 ;
| Accountsreceivable i 53920 i . Non-current liabilities A S R
CCash 9390 | I 8 9_199,_L_cz@_rz_f_rs»_m_b_a_r_w_k________________________[ ___________________ 200,000 |
R SRR S | Current liabilities i 4
_____________________________________________________________________ Accountspayable ~~ 159310: :
e sankoverdraft 038260 G 97,570
1 390,760 390,760



9. Following is the trial balance of K Sung as at 31 March 2006. Draw up a set of final accounts for the year ended 31 March 2006.
K Sung
Trial Balance as at 31 March 2006

Dr Cr
$
Inventory as at 1 April 2005 181,000
Purchases and sales 791,800 923,000
Carriage inwards 4,200
Carriage outwards 15,700
Returns outwards 6,200
Wages and salaries 182,400
Rent and rates 30,150
Telephone charges 16,240
Packing charges for goods 12,160
Insurance 5,250
Sundry expenses 3,150
Buildings 220,000
Accounts receivable and accounts payable 143,200 181,600
Bank 29,700
Cash 9,650
Loan from K Kwan (repayable in 2009) 200,000
Drawings 75,000
Capital 408,800
1,719,600 1,719,600

Inventory as at 31 March 2006 was valued at $33,900. The packing charges for goods should add to cost of goods sold.

K Sung
Income Statement for the year ended 31 March 2006
e N S N S RS NN, B
P_Q_Fz?_n_'ng__'tl_v_er_@_r_v _______________________________________ 181,000 | Sales 9_ 23,000 :
_/__\0!9'___F_’y_r_c_h%?_e_s_______________________7_9_1_599 __________________ Grossloss¢/d ;26,060
___________ Carriageinwards 4200 i
__________ P %9'51(\.%.9!1_6_(%_@?___________________1_24_69_
__Es%_s__s___R;e_t_u_r_r_\i?y_t_v_v_a_rfi_s_________________(_6__299)__________8_9_1_?_69 _______________________________________________________________________
982,960
 Less _Closinginventory e LB3R00) |
. Costofgoodssold A i MM
| Grosslossb/d e 126060 | Netloss 278,950 ;
. Carriage outwards L 2 A5700 | e
Wagesandsalaries A N 182400 | S
| Rentandrates 11 30,050 |
. Telephonecharges ~~ + & 1 16,240 | S
Insurance 5250 ___________
Sundryexpenses 44 31_1_59 ______________________________________________________________________
K Sung
Balance sheet as at 31 March 2006

e . S i 2 -' ....................................... SR S N
. Non-currentassets o A . Capital L S R :
 Buildings S 220,000 ! Balance asat 1 April 2005 S .. 408,800 :
_____________________________________________________________________ Less_ Netlossfortheyear 1278950 : @
Cumentassers L awings. 1 75,000 | (333950)
 Inventory 33,900 & b 54,850
Accountsreceivable 1143200 i i Non-current liabilities &+ & .
Bank i 29700 i iloanfromKKwan i i i 200000
' Cash 9,650 : . ___2_1_6_‘_‘_59 ______________________________________________________________________
_____________________________________________________________________ Current liabilities & 4
e e R | Accountspayable o P . 181,600 |

17236,450 | ] P 1 436,450 |



8.5 Balancing off the capital account (%L F & & =)

A}

We would transfer (& ¥]) the balances (4%g) of the profit and loss account (income statement) (4f & #& =) and the drawings

account (# * & ) to the capital account (3 & #& # p ). The double entries required are (*7 § 4§ ;% 35tk 40T ):

To transfer the balance of the profit and loss account (3= 4 & t& = 4R 8 1)

If there is a net profit,
Dr  Profit and loss account
Cr  Capital account

If there is a net loss,
Dr  Capital account
Cr  Profit and loss account

To transfer the balance of the drawings account (35 & * & = c&RFF #& 1)

Dr  Capital account
Cr  Drawings account

The capital account of M Chan’s business is balanced off at the end of the year as follows:

Capital
2008 $ | 2008 $
Dec 31 Drawings 23,000 | Jan 1 Balance b/f 290,000
" 31 Balance c¢/f 283,620 | Dec 31 Profit and loss (net profit) 16,620
306,620 306,620

Class work 3
1. Given the following figures as at 31 December 2010: Opening capital $67,900; Net profit for the year $15,670 and

Drawings $4,920. Write up and balance off the capital account at the end of the accounting year.

Capital
2000 & b S 12010 b S
' Dec 31 :Drawings i 4920|Jan ! 1:Balanceb/f @ 67,900
_____ " i31iBalancec/f 78650 | Dec :31: Profitandloss(netprofit) i 15670
A 83570 I |.83,570 |

2. Following is the part of trial balance and income statement as at 31 March 2006. Write up and balance off the

capital account at the end of the accounting year.

Trial Balance as at 31 March 2006

Dr Cr
S
Drawings 75,000
Capital 408,800
Income Statement for the year ended 31 March 2006
S S S
Net loss 278,950
Capital
12006 S 912005 i S
\ Mar_:31:Drawings 75000 | Apr_: 1:Balanceb/f 408,800 |
" 31 Profitandloss netloss) 1278950 | B o |
. _i31:Balancec/f 54850 A A ;
i ; ; +408,800 ; ; + 408,800 :



. ‘.‘J. Ve
8.6 Accounting cycle (¢ 3* i %)
An accounting cycle (§ 3* {5 ) is refers (:FF) to the process (i #2) from the recording of daily transactions (¢ B ¥ 2 % 3z4%)in
the books and ledgers ( &/ 454 % & v 4 % +&) to the preparation of financial statements (£ I 3% % R{734F 4 ) at the end of an

accounting period (% € 3 #f % ). In general, each accounting cycle goes through the following steps:

1.
2.

Keeping the source documents for transactions made (# 7% % R 4> ¥ 33)

Recording the transactions in the books of original entry according to the information in source documents (133§ & 4% 35 +
TR P LSRR EER)

Posting the entries from the books of original entry to ledger accounts by means of double entry (3& # 4§ ;8 etk » b Rio 4
- e B R T A SRR 2 )

Balancing off the ledger accounts at the end of each month (% #73 A& &tk =)

Preparing a trial balance in order to check the accuracy of double entries made in the ledger accounts (%8 ¥ & % » Mk & &
HEHEE # e X o 4B R 1S )

Preparing closing entries (3 .3 /& & 4%)

Preparing financial statements, usually the income statement and the balance sheet, at the end of the accounting period (.’ft_g

PR HEMBER)

Step 2 Recording transactions in the books

Step 1 Keeping source documents e
of original entry

Where original information is to be found:

- Sales and purchase invoices

- Debit and credit notes for returns and allowances
- Pay-in slips and cheque counterfoils

Classify and then enter transactions in the books
of original entry:
- Sales and purchases journals

j . . —— - Returns inwards an t '
- Receipts for cash paid out and received 4 ' g Sjoumak
o . L . - Cash book and petty cash book
« Documents containing other financial information _
- The journal
(e.g. correspondence and contracts) ;
7/
Step 3 Posting entries to the ledger accounts
Post entries to the double-entry accounts in ledgers:
Step 4 Balancing off all the ledger accounts ‘r_.,,.; - Accounts receivable ledger: Trade debtors'’
‘ accounts
- Accounts payable ledger: Trade creditors accounts
- General ledger: Other accounts
o L Step 7 Preparing final accounts
Step 5 Checking arithmetical accuracy . /
: Determine profit or loss
Check the arithmetical aécuracy of double-entry Calculate the profit or oss for the accounting
e tr'al e period by preparing an income statement
f , Showing financial position
e ; Prepare a balance sheet to show assets, liabilities
Step 6 Preparing closing entries —/ and capital at the end of the accounting period



8.7 Classifications of ledger accounts (™& = cF.4" %g)

Accounts are normally divided into three types (4 = = #f) and kept (3% &) in three separate ledgers (= * Jb & ¢4 §Fik&):

B e i e i

Accounts payable ledger (also called purchases Iedger) Trade creditors’ accounts

Accounts receivable ledger (also called sales ledger) Trade debtors' accounts

Genéral ledger All other accounts

Ledger accounts can also be classified in the following ways (& * 5 ¥ &4 T g 2 L 4F).

Personal vs. impersonal accounts (4 &tk = g22L X Z ik )

Personal accounts: accounts of individuals and organizations (& % "frﬁﬁ’}#.rhE £ ) having transactions with the firm (£ & ¥ i
72 % ). All the trade debtor’s (4 ' 7% X ) and creditors’ accounts (B f 7 # 4 ) in the accounts
receivable ledgers (/& J< .t ) and accounts payable (& i} 3.7 ) ledgers are classified (4 #£) as personal
accounts (4 %#& ). Therefore, the accounts receivable and accounts payable ledgers are often called
personal ledgers (4 & 4 #Et&).

Impersonal accounts: accounts other than personal accounts (% %t& = 12 ¢b gl 4 #& # ). The accounts of Wages and
salaries (1 3 {=# &), Furniture and fixtures (%2 % % ¥ ), Bank (42{7), Cash (3R &) and so on are

classified as impersonal accounts (22 4 %1 =),

Nominal vs. real accounts (2 T& =* 27 g &

Nominal accounts: accounts that will be closed off (#& ** € # % ) at the end of an accounting cycle (€ 3+ ¥ % % % F¥) and
whose balances (t& = 4:%F) will be shown (¢ &8 7F ) in the income statement (§f ¥ % ). They are
also known as temporary accounts (% fﬁ-w*ﬁ ). The accounts of cost of goods sold (& | = %),

expenses (% * ), sales and other revenues (& { -3 # Jc ¥ # & ) are classified as nominal accounts

(& =),

Real accounts: accounts whose balances (& = 43F) will be carried forward (€ #& ) to the next accounting cycle (T - & §
3 %) and will appear (8277 ) in the balance sheet (3 & # ff % ). They are also known as permanent
accounts (* f-& X & = ). The accounts of assets (3 & ), liabilities (£ 7 ) and capital (£ #) are classified as

real accounts (3 t& = ).

Features of sole proprietorships (3§ 5§ ¢rd% 8L)

Sole proprietorships are distinct from other forms of business ownership in many ways, as shown below:
Capital can only be raised from one owner (F £¢ - B i bp £ 8)
For partnerships, capital can be raised from more than one owner. For public limited companies, capital can be raised from the

public by issuing shares.

All profits made belong to one owner (%3 /- B L 1)
For partnerships, any profits made will be shared by all the partners. For limited companies, part of the profits may be distributed

as dividends to shareholders, with the rest kept in company as reserves.

The owner is free to make drawings (X 2 ¥ ™1 p d & *)
For limited companies, shareholders are not allowed to make drawings. For partnerships, interest is usually charged on drawings

made by partners. But there is no restriction on drawings made by a sole proprietor.
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